Find The place of The underined
dgit:

| 235043

2.483920
3.433982
4.6/2003

Mutiplicartion Comparisons:

AT The ring Toss booth in a carnival
Four peopie losT and Twenty-four
people won. How many times as
Mmaony people won as lost?

MUITIDIY:
(Use any method you want)
/5

X29

Adartion:
| 475430
+ 209990

SupTracTion
| 600000
-349092

MUITi-STep word Problem:

A King size canay bars costs $l with

Round The number To The nearest

underined digit:

| 328932
2482092

Divide:
(Use any method you want)

| 79844

2. 7983/2

#* ASK YOUr parent To choose 2
nubers (2-20) and list The first 6
mMutiples of Them

*#*ASK YOUr parent To choose 2
numpers ond list all of The facTors
for them.

each candy bar having 1736 calories. if
yOou bought 6 candy bars ond Took H
days eating tThem (eating tThe same
amount each day) how many calories
would you consume a day?



3in.

9in.

Permeter_____

Jonet had a sheet of paper that
was Hinches Iong ond The area was
4O s In. What is the widTh of The

paper?



